Mw 00

blank
y=V(10x-x*).
(a) Complete the table below, giving the values of y to 2 decimal places. 2
x 1 1.4 1.8 22 2.6 3 z
y 3 3.47 439 ‘
@
(b) Use the trapezium rule, with all the values of y from your table, to find an approximation
for the value of J ;‘ V(10x-x") dx. 2
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(a) Complete the table below, giving the values of y to 2 decimal places.

6. y=

X 2 225 25 273 3
y 0.5 0.38 0.2
(09
(b) Use the trapezium rule, with all the values of y from your table, to find an
3
approximate value for -
P 3Ix -2 @)
YA
A
B
.
0 2 3 X
Figure 2
Figure 2 shows a sketch of part of the curve with equation y = oo x>1.
¥ =

At the points 4 and B on the curve, x = 2 and x = 3 respectively.

The region S is bounded by the curve, the straight line through B and (2, 0), and the line
through 4 parallel to the y-axis. The region S is shown shaded in Figure 2.

(c) Use your answer to part (b) to find an approximate value for the area of S.
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4 x=1
0 i X
Figure 1
Figure 1 shows the graph of the curve with equation
=16 _x
The finite region R, bounded by the lines x =1, the x-axis and the curve, is shown shaded
in Figure 1. The curve crosses the x-axis at the point (4, 0).
(a) Complete the table with the values of y corresponding to x =2 and 2.5
X 1 1.5 2 2.3 3 35
y 16.5 7.361 1.278 0.556
(2
(b) Use the trapezium rule with all the values in the completed table to find an approximate
value for the area of R, giving your answer to 2 decimal places.
(C))
(c) Use integration to find the exact value for the area of R.
()
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z y=V(5*+2) .
(a) Complete the table below, giving the values of y to 3 decimal places.
x 0 0.5 1 1.5 2
y 2.646 3.630
(2)
(b) Usethe trapezium rule, with all the values of y from your table, to find an approximation
2y
for the value of_[ V(5"+2)dx .
0
C)
S
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4. (a) Complete the table below, giving values of (27 +1) to 3 decimal places.

x 0 0.5 1 1.5 2 25
N2+ | 1414 1.554 1.732 1.957
¥ r
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Figure 1

2

Figure 1 shows the region R which is bounded by the curve with equation y =+/(2" + 1), the

x-axis and the linesx=0and x=3

(b) Use the trapezium rule, with all the values from your table, to find an approximation |
for the area of R.

“4)

(c) Byreference tothe curve in Figure 1 state, giving a reason, whether your approximation
in part (b) is an overestimate or an underestimate for the arca of R.

(2)
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1. y"z 3*+2x
(a) Complete the table below, giving the values of y to 2 decimal places.
X 0 0.2 0.4 0.6 0.8 1
y 1 1.65 S
)
(b) Use the trapezium rule, with all the values of y from your table, to find an approximate
1
value for I (3" +2x) dx.
9 C))
____________________________________________________________________________________________________________________ )

A OO OO0




ma= wwi

5. (a) In the space provided, sketch the graph of y = 3%, x € R, showing the coordinates of

the point at which the graph meets the y-axis.

(2)
(b) Complete the table, giving the values of 3* to 3 decimal places.
, 0 0.2 0.4 0.6 0.8
37 1.246 | 1.552
(2)

(¢) Use the trapezium rule, with all the values from your table, to find an approximation

1
for the value of j. 3 dx.
]
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. The curve C has equation

y=xV(* +1), Osaxg 2

(a) Complete the table below, giving the values of y to 3 decimal places at x = 1 and
x= 1.3

X 0 0.5 1 1.5 2

y 0 0.530 6

(2)
(b) Use the trapezium rule, with all the y values from your table, to find an

approximation for the value of rx\/ (x3+1)dx , giving your answer to 3 significant
figures. !

4)
y A (2,6)
[
C
R
(0] >Jc
Figure 2

Figure 2 shows the curve C with equation y = x\/(f +1),0 < x < 2, and the straight line
segment /, which joins the origin and the point (2, 6). The finite region R is bounded by C
and /.

(c) Use your answer to part (b) to find an approximation for the area of R, giving your
answer to 3 significant figures.
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1. y= \/(3-‘“ + x)

(a) Complete the table below, giving the values of y to 3 decimal places.

X 0 0.25 0.5 075

y 1 1.251

H

2)

(b) Use the trapezium rule with all the values of y from your table to find an approximation

|
for the value of J\.’(S" +x) dx

You must show clearly how you obtained your answer.
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\(4,0) x

0 1,0
Figure 2

The finite region R, as shown in Figure 2, is bounded by the x-axis and the curve with

equation
yi= 2?—2x—9\“x—1—f-,
e

=0

The curve crosses the x-axis at the points (1, 0) and (4, 0).

(a) Complete the table below, by giving your values of y to 3 decimal places.

x 1 L5 2 2.5 3 3.5 4

5.866 5.210 1.856 0

@)

(b) Use the trapezium rule with all the values in the completed table to find an approximate
value for the area of R, giving your answer to 2 decimal places.

4)

(c) Use integration to find the exact value for the area of R.

(6)
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4. y = 35
s
(a) Complete the table below, giving the missing value of y to 3 decimal places.
X 0 0.5 1 Io 2 2.5 3
y 5 - 2.3 1 0.690 0.5
(1)
y 4
3
R
0 3 x
Figure 1

Figure 1 shows the region R which is bounded by the curve with equation y = 2—5— :

the x-axis and the lines x =0 and x =3 (" +1)

(b) Use the trapezium rule, with all the values of y from your table, to find an approximate

value for the area of R.

(4)

(¢) Use your answer to part (b) to find an approximate value for

J 4+ ,5 dx
0 (x" +1)
giving your answer to 2 decimal places.
(2
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